Adding decimals

Answer the word problems

At a clothing store, Carrie buys a scarf for $8.95 and a jacket for $40.50. For his brother' s wedding, Chris buys himself a pair of shoes for $47.03
How much did she spend? and a tie for $24.80. How much did he spend?

Pete has $161.80 in his piggy bank. For his birthday, his grandparents give For her birthday, Justine buys lottery tickets and wins $35.05 on one of
him $35.80. How much money does he now have? them and $43.48 on the other. How much did she win?

At a clothing store, Carrie buys a scarf for $8.95 and a jacket for $40.50. To go to work, Laura spends $24.05 per month on parking and $155.46 per
How much did she spend? month on train tickets. How much does she spend total per month?
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